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12 JIEIEA S 5,000 5,000 0
O E2% IR SHESAIES HEUHITH
HIS 5,000,000& * 12 5,000
ANBZZH(S2AEE) 597,400 745,400 A 148,000
nZ2seld 293,400 343,400 250,000
201 LBl 41,400 41,400 0
02 2222l 41,400 41,400 0
O 332= % HA 41,400
- SUSAAE SHRI
5,750& * 60000 = 12& 41,400
401 Al EHIZ 2 0Hb] 252,000 302,000 50,000
01 A& | 250,000 300,000 A50,000
O NZSEXSA 200,000,000& = 14 200,000
CEIZE I WHSA
1,000,000& * 505 50,000
03 AI& R HHI 2,000 2,000 0
O AER0HI 2,000,000& * 14! 2,000
O XIEAAS 202,000 402,000 200,000
401 Al EHIZ 2 0HY] 202,000 402,000 A200,000
01 Al &l 200,000 400,000 A200,000
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200,000,000& » 14 200,000
03 AIE& 2 HHI 2,000 2,000 0
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STZAIIEX 102,000 0 102,000
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200,000 * 79I 1,400
O XJ|gz= gL A
L0009 * 400! » 40 9,600
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) 300,000 * 363CH 108,900
s 54,450
Al 54,450
ST A2 (HAIHTE) 1,033,170 1,063,120 229,950
HWAEZ22 1,033,170 1,063,120 229,950
201 LBl 16,710 17,560 A 850
01 At22t2| I 15,510 16,360 A 850
O YEt==8Hl 11,400
- BASAL BEDS B4 HE
150,000& * 22| 300
- 2=3AX EEIH KA 60,0003 = 4004 2,400
- BAl &7 SHEE A 10,000& * 7004 700
- HAEZ 0|2 82 8,000,000& = 14 8,000
O =gl 3,360




AR HETAR SN DED
HH: HEDESENV(RED)
SCE Al (HAEE) (el @9
= = & e
CERA - EB L SR(SI) - MISRAY - B 0 &k o8 el HlRE2
“AEE 9% =0
7,0003 * 491 « 10 « 128 3,360
O 1=l 750
- SEABEAE D=y 250,0008 * 30! 750
03 SAI2ZHI 1,200 1,200 0
O Sl S2BAR VEDS SALL
300,0002 * 20! * 23] 1,200
202 01t 12,000 7,200 4,800
01 =LHAYI 12,000 7,200 4,800
O HAES 92 =
20,0002 * 391 * 102 * 122 7,200
O SEANYZE 42=7
20,0002 = 201 » 10 ~ 123 4,800
301 LEtEAS 600 0 600
12 JIEHE &3 600 0 600
O 72 IaA% 243 200,0002 * 321 600
305 i&at== 500 0 500
01 &3S 500 0 500
O HDISO CHer Ayl 4
50,0002 * 1021 500
307 212+01 A 928,360 928,360 0
04 QIZFSHALE = 4,000 4,000 0
O SAIZH LA B0IS H3l
4,000,008 * 14! 4,000
09 2+=HAHELS 924,360 924,360 0
O WAES 532 22|
30,0008 * 2,151CH 122 774,360
O MAEZ HEZW 248
400,000,000& = 14 * 37.5% 150,000
401 Al EHIZ 2 0HY] 75,000 110,000 A 35,000
01 Al bl 75,000 110,000 35,000
O SASSE SXI(FLHO0L)
25,000,000&  30HZA 75,000
SAEEX 22 (NEAEE) 1,243,800 1,703,000 459,200
z 696,000
= 64,800
Al 483,000
SY=IRXBL 3,000 0 3,000
201 er2dd| 3,000 0 3,000
02 2322l 3,000 0 3,000
O Zea YNFEXE U2
1,500,0008 * 22 3,000
VENEEETPITY 960,000 1,000,000 40,000




A= HAEZA= M WS
8 ZDSSSN(DSH)
Chel: NEAdEXI 2 (REALE) (chel: =@
- - X L=
A 2N ZH . SR(EH) - MRAY - BAS 0fl &+ e jmE=T
& 480,000
Al 480,000
401 A& HIZL 2 OHYI 960,000 1,000,000 240,000
= 480,000
Al 480,000
01 A& | 960,000 1,000,000 240,000
O HelolEs+9 A= &Xl
80,000,000& * 12042 960,000
= 480,000
Al 480,000
Hel 012 S ACCTVE R (Bt F=H) 280,800 0 280,800
= 216,000
& 64,800
401 AIEHIZ 2 UYI 280,800 0 280,800
= 216,000
& 64,800
01 A&l 280,800 0 280,800
O HEl0IZ2SFACCTVE I (Bt FH)
280,800,000& 14 280,800
& 216,000
& 64,800
EOULNSHAZe(RSXAE) 2,467,030 2,285,081 181,949
NsgunsHAzel 2,467,030 2,285,081 181,949
201 2| 656,030 597,081 58,949
01 At 22|l 53,030 46,229 6,801
O get+=8H| 46,730
- WEAMSHONI| HEFH =2
44,0002 = 52004 22,880
- WSHSEF ANEFH =1
7,000& = 2,8500H 19,950
- uEaEs 2 7Y 200,000& * 12& 2,400
- ZEHME & Setele X
1,500,000& = 14 1,500
O =gl 6,300
- ANsEUSHA d2FH
7,0002 * 501 » 156 * 12& 6,300
02 2522l 603,000 550,852 52,148
O 32323 & HMAl 588,000
- ITS & WSASAEZH IS
22,000,000& * 12& 264,000
- ITS2H SAR= 12,000,000& * 12& 144,000
- BISZA &MIIRS 3,000,000& * 12& 36,000
- BISZH SHRS 12,000,000& * 128 144,000
O A& EHl !X 15,000




A HEEA= M WS
M HspnEsdXA(RES)
el FHuEMA2e(RSK2E) (el &3
Al . & XNxH . CI2| (S S AL N2 OH EHE =2}
- WESFEHEH AlEEH 7Yl
15,000,000 = 14 15,000
202 oddl 10,800 10,800 0
01 S LHAYI 10,800 10,800 0
O NSHDSAAY 257
20,000& = 521 = 9 * 12& 10,800
206 T =4I 20,500 13,000 7,500
01 =4l 20,500 13,000 7,500
O HAA U MM ADE P9
5,000,000& * 14 5,000
O Mara UPSHiEH 2 & 250,000& * 307K 7,500
O ITS & BIS &¥&EH 5 +¢
8,000,000& = 14 8,000
401 Al EHIZL 2048 1,773,200 1,570,200 203,000
01 Al &l 1,763,200 1,564,200 199,000
O ITS d ¥ $FEEH ®A2c
320,000,000& = 14 320,000
O BIS ¢dlef & E&HEHI wAl2c
200,000,000 * 14 200,000
O AU . HIXHOl [HE BISEHl Ol4
800,000& * 79CH 63,200
O 38 FXZel(SHIHAH )
240,000,000& * 294X 480,000
O HAXMBEAIAE(BIS) &U2S 700,000
- HAZRJRE eIl =IO X
15,000,000& * 20CH 300,000
- BIS XHLHEHI JH&EALS
400,000,000& » 14 400,000
03 AIE R HHI 10,000 6,000 4,000
O ITS & BISAIY =& 10,000,000& » 14 10,000
405 XH&HE S HI 6,500 94,000 A87,500
01 AL ESFH S| 6,500 94,000 A87,500
O L3 AX ¢ 4,500,000& + 1CH 4,500
O ITS & BIS B#HEY HAS =E=
2,000,000 = 1CH 2,000
HCAAS(WED) 11,980 55,200 A43,220
HNEANELX22(NSAIEE) 11,980 55,200 A43,220
Hot-H=ZSMEALA M 11,980 55,200 A43,220
201 LBt 7,180 30,200 A 23,020
01 At 22|l 4,180 24,200 A 20,020
O Et==EH| 2,500
- MohHFEDE ME HEI U2 +42ES
500,000& = 5QI 2,500




A3 AMTAZ SN RED
M HEUPF(nEN)
chel: nSAgdR2el(RSAEE) (chel: =@
Al . G NI . C}2 (5 S ALA N2 OH HEL =2}
O =&l 1,680
- HOREFEDE WE AL ADREA
7,000& * 221 » 10 * 12& 1,680
03 #AH2ZHI 3,000 6,000 23,000
O EHAOILL & E20F E23] =
3,000,000& * 13l 3,000
202 044l 4,800 5,000 A200
01 = LHOYI 4,800 5,000 2200
O MohHF2& M 2 A L2
20,000& = 221 » 10 * 12& 4,800
Hegs(nsa) 2,000,000 2,000,000 0
LHEHH K= 2,000,000 2,000,000 0
HEHH K= 2,000,000 2,000,000 0
701 DBt HE &3 2,000,000 2,000,000 0
01 JIEtI AN ES 2,000,000 2,000,000 0
O JEISIHEES(TA NSMLELSIH)
2,000,000,000& = 14! 2,000,000
HE2HAL(nEH) 143,503 143, 140 363
oI 2| 129,403 119,020 10,383
eI 2| 129,403 119,020 10,383
101 @124 | 129,403 119,020 10,383
01 2= 129,403 119,020 10,383
O AM222R+E
8,476 * 57AI2t  0.72 » 31H » 123 129,403
JI23H4 14,100 24,120 A 10,020
Jl=ZHl 14,100 24,120 210,020
201 2| 8,700 18,720 210,020
01 AtR22IHl 8,700 18,720 210,020
O Et==ZH| 8,700
- SAZX & MREE ¥
500,000& * 123 6,000
- A2H=EE 15,0008 158 * 12& 2,700
203 JRF&d| 4,200 4,200 0
04 EN2ZLRZ=LH 4,200 4,200 0
O WS (302! 0lat) 350,000& * 123 4,200
204 [ 2| 1,200 1,200 0
01 MG HR LAY 1,200 1,200 0
O & 100,000& = 12! = 12& 1,200




= A
Hl = 0l & A S & Al A

A= AEEAZ A THHHAE

A TSR =0r™ & AR HOFA 1)

SRl M2l USHMHOINE) (o8&
Al (=] X XH ol(S [=] o OH EHE =}
AR 2N BB (SH) - MRAY - BE= Ofl &k Gl Rrod HRE

pUR=geirSin; 14,654,989 14,051,310 603,679

= 7,783,913
T 267,616
Al 6,603,460
TS = 0k m & Al (KHLHOHE 1) 12,280,400 12,968,239 687,839
= 7,783,913
& 267,616
Al 4,228,871
Mtz A2 g (It EE) 8,784,292 7,514,484 1,269,808
= 6,500,000
T 7,155
Al 2,277,137
Mt ord A A 165,692 266,480 A 100,788
101 2124 d| 9,332 0 9,332
04 JI1ZtHIZ2 2RSS Ex 9,332 0 9,332
O 2=0| oM 22|23 OIZ2HI0IE(6Y)
4,860 * BAIZ2+ = 621 = 40 9,332
201 LBt A Y| 119,760 114,640 5,120
01 AtR 22| 8l 26,400 26,400 0
O get=2d| 13,600
- Mtord 2| HEA 40,000& * 1002 4,000
- OtNSI=E2dE & MuH=dFd
1,440,000& * 5& 7,200
- THHOIMEEHAEA 299 400,0008 + 6& 2,400
O 2g=¢ 1,400
- ML 2ER/RAS =Y
70,0003 = 109! = 23| 1,400
O 2l 8,400
- Lot BSetatstal 234
7,000& = 102! = 10 » 12& 8,400
O ¢xt= 3,000
- OtMSt=E=d SEEH ¥ dMY S
3,000,000& = 13| 3,000
02 8222l 93,360 88,240 5,120
O 322= % HA 35,360
- St ZAICCTY MII22
10,000& » 2304 » 12& 2,760
- ot ZAl CCTVRIHAIEZ ¥ Sdlz
100,000 * 23 A * 12& 27,600
- St HE 23 1,000,000& * 13 1,000
- SEZACIUHAAYE HMEAH =22 (50014)
80,0003 = 5004 A 4,000
O AEEHI Rl 55,000
- Ot ZAICCTV RAE+E2Y
20,000,000& « 14 20,000
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A HEEA= SN THEOHM Dt
M S =0t S Al (M A 1)
el T LBl AR B (T QLR ) GEER-)
Al (=] XNxH . CI2| (S S AL N2 OH EHE =2}
301 LEtE A= 70,020 74,220 24,200
03 92L& ZI 70,020 70,020 0
O ASLAYH MES2AES
7,000& = 302! » 13JHCH * 23] 5,460
O HotAg)|=ZAME SRS
20,000,000& = 14 20,000
O MBIES Y +2HE 2
21,460,000& = 14 21,460
O &=z 2 & A8)|sZAls N
2,000,000& * 23| 4,000
O oSA22UI APAE XA
5,000,000& * 13| 5,000
O 282N 2 L 22DS
5,000,000& = 12| 5,000
O SE)| sty =2 5,460,000& * 14] 5,460
O s828l s2us XNJ
140,000 * 13JHCH = 2¢! 3,640
307 e12tol & 4,200 11,100 26,900
04 QIZFHALE = 4,200 0 4,200
O 2.99H J1EHA 7,000& = 300¢! 2,100
O doto| g4l F4IIEHA
7,000& = 300¢! 2,100
405 XH&HE S HI 14,830 64,000 249,170
01 AL EEFH SHI 14,830 64,000 AN49,170
O Edige (1) 3,000,000& = 1CH 3,000
O &#+=8 3J18 #(501) 418,0008 * 504 2,090
O &=+==(3Y) 1,500,000 *» 3 4,500
O dHAM=E 0tUlZ2 (38) 420,0008 » 3& 1,260
O AAMASII(1CH) 3,980,000& = 1CH 3,980
MeH L2 HH B 23,850 43,884 A 20,034
& 7,155
Al 16,695
201 LBt2gd| 23,850 43,884 A20,034
& 7,155
Al 16,695
01 At 22| 23,850 43,884 A 20,034
O et 23,850
- MUH IR HEE Y5 S(3000H7)
23,850,000& = 13l 23,850
& 7,155
Al 16,695
OOt E 21 E 8,501,500 7,006,500 1,495,000
= 6,500,000
Al 2,001,500




A2 AL S THLOE Dt
M S =0t S Al (M A 1)
Gl Met2e| G2t E) (el &)
Al . G NI . C}2 (5 S ALA N2 OH HEE =2}
202 (4l 1,500 1,500 0
01 = LHO BI 1,500 1,500 0
O MUoEME2 2=
50,000& = 32! » 10 1,500
401 AIEHIZL 2 THYI 8,500,000 7,005,000 1,495,000
= 6,500,000
Al 2,000,000
01 A&t 8,500,000 6,700,000 1,800,000
O HOIOIMHED HE
8,500,000,000& = 14] 8,500,000
= 6,500,000
Al 2,000,000
MNATHHHSE (SR REE) 2,139,800 3,849,600 A 1,709,800
= 1,264,200
& 252,840
Al 622,760
KHSA TH 0N 2 T0 o =5 =2 32,800 33,400 A 600
201 LBt2gd| 20,800 21,400 A600
01 At 22| 20,800 21,400 2600
O Et==EH| 5,400
- SMus WM ME 10,000& * 300= 3,000
- ESHEES MA(BHUAXIN, 82 S
) 60,0002 * 40JH A 2,400
O 2g8=¢ 7,000
- AHETHOH SEdHEBERRR =E
70,0002 = 521 = 203 7,000
O =&tl 8,400
- THHOE 220 o BSEKRY SAY)
7,000& * 202! * 60 8,400
202 oddl 5,000 5,000 0
01 =L YI 5,000 5,000 0
O THoHoNeY & XHg RFA
50,000 = 221 * 30 3,000
O MAHHAEXNA(ILIHE S) & THaHEAIS
A2FA 50,0002 = 221 » 20 2,000
203 JRF&d| 2,000 2,000 0
03 Al F=X AL =Y 2,000 2,000 0
O MHtIE HAE st dgFZ
2,000,000& = 14 2,000
307 I2t0l & 5,000 5,000 0
02 BIZtANE L 5,000 5,000 0
O NsYMe 2Z X2 5,000,000& = 14 5,000
SHEMHAE R FIHH 2,107,000 3,800,000 21,693,000
= 1,264,200




A= AETAI= A oS
HHM: THA= A Z AR LA )
gel AN (S22 E) (et &
Al (=] X ZH Ct2| (3 (=] (2] N OH EHE =2
= 252,840
Al 589,960
401 AIEHIZ RO 2,107,000 3,800,000 21,693,000
= 1,264,200
= 252,840
Al 589,960
01 Al&HI 2,096,000 3,788,000 A 1,692,000
O R4S X+ HHIAL
2,096,000,000& * tkm 2,096,000
= 1,257,600
= 251,520
Al 586,880
03 Al 2 HHI 11,000 12,000 A 1,000
O RdMHAS X+ HHIAL
11,000,000& » 14 11,000
2 6.600
s 1,320
Al 3,080
HEAZH (MeorEE) 1,201,998 1,284,038 82,040
S 2,642
Al 1,199,356
=M et EALAHY 206,330 187,030 19,300
201 LBt A 144,510 145,510 A 1,000
01 At 2t 62,310 62,310 0
O get=gH| 50,600
- CHEEAIALY E13lS M} QI
20,0008 * 1008 * 23 4,000
- QA EE2= MA 5,000,0008 + 14 5,000
- H21% 2RLHCA 5] 5=
1,800,000& =+ 2¢I 3,600
- g0l dHetdE EES MA
10,000,000& * 14 10,000
- BTV L OHIIE SY& 2D 442
5,000& * 3000HZ = 128 18,000
- A2IHIOIE (O E & 223J|2) 88 =9
& M= 5,000,000& * 23 10,000
O 2g8=+¢ 5,060
- T AIRED] RIS EAeY
70,0003 = 232! x 13| 1,610
- HHZANARES BT
70,0003 = 1521 * 12] 1,050
- HENE 2AsE 400,000& * 63l 2,400
O =gl 6,650
- QT Al FEFA 77,0008 * 3¢ » 200 4,200
- QHMEAl AREOE /s =W
7,000& * 709! * 53 2,450




AZ: ALZAZ SN TR T
M S =0t S Al (M A 1)
OFE C AT A (M EOIRE) CEREED
- - X L=
SR BB BR(EH) - MRAY - BAS 0fl &+ e jmE=T
02 222l 15,200 18,200 A 3,000
O 3323 2 HMAl 11,000
- OIETAl EAEE B 2B
2502 * 4,00004 1,000
- QHTAYR B 2HI
10,000,000& * 13l 10,000
O A& EHl |X4] 4,200
- SNUN SEALY SN2
350,000& * 12 4,200
03 #AH2ZHI 67,000 65,000 2,000
O UHEZAl ARE23 AAS HA
12,000,000& * 13l 12,000
O CHNMME HAEY L ZH IH=
25,000,000& = 13| 25,000
O OElol olsSeHd MERA(1000iR) Y
30,000,000& * 14 30,000
202 (4l 10,000 10,000 0
01 =LHO Y] 10,000 10,000 0
O M AIALY =& 50,0002 = 421 » 50 10,000
207 AN | 19,300 19,000 300
01 H2E A 19,300 19,000 300
O LR ANMSIEZNH 4
9,500,000& = 14] 9,500
O E&ZAMA 424 9,800,0008 * 14 9,800
301 LBt a3 2,520 2,520 0
10 HALAHIZ &3 2,520 2,520 0
O UHZAARHEOS &I 24
7,000& * 602! 63l 2,520
307 e12tol & 10,000 10,000 0
04 BIZFHALE & 10,000 10,000 0
O 2SHdX ws ¥ ZAUS 10,000
308 MHXIHHSO0IA 20,000 0 20,000
06 n=EJI20USEXZ 20,000 0 20,000
O FHetdstn 29 10,000,000 = 2o 20,000
LRCCTVA Xl 2tel 552,400 651,400 299,000
201 LBl 131,400 157,400 226,000
01 At22t2| I 1,400 1,400 0
O =gl
LHHCCTVA XI =& 7,0008 * 221 » 100 1,400
02 222l 130,000 156,000 226,000
O 3323 2 HMAl 130,000




AR ALE AR SA THEHOHE I}
M THHI =t S Al (RO 1)
CHl: OIMGAIZA (MEOIFE) (9@
Al . & X ZH Ct2| (3 (=] (2] N OH EEE =2
- YECCTV 223 (HIHEA)
130,000,000& + 14 130,000
202 044l 4,000 4,000 0
01 S LHAHI 4,000 4,000 0
O ZECCTV GR=& 20,0008 » 221 = 100 4,000
401 AIEHIZ 2] 417,000 490,000 A73,000
01 Al&HI 417,000 490,000 A73,000
O SH#CCTV SRIZ2l (SI13I2)
17,000,000& * 14 17,000
O g-ecTV dx(e2 & Fu¥)
10,000,000& * 404 400,000
M2 2S K 17,808 16,008 1,800
< 2,642
Al 15,166
201 LBt 15,008 13,208 1,800
< 2,642
Al 12,366
01 At222/Hl 15,008 13,208 1,800
O Et==ZH| 15,008
- AlRIDt EMols AdNEst2s 2He
EEE S 3,302,000& * 43] 13,208
= 2,642
Al 10,566
- OINEC & 222 oYy
300,000& * 62l 1,800
301 LEtEAS 2,800 2,800 0
10 HALAHIEA S 2,800 2,800 0
O M zs2s#AH(HmH L)
7,000& * 1002 * 42| 2,800
ARt SE2REEH2Y 425,460 429,600 A4,140
308 XA XIHHMSOIA 425,460 0 425,460
05 X EH2HRE =S 425,460 0 425,460
O ANt SE2HMUE 22|
729,360,000 * 7/12& 425,460
gel2gae (g d) 154,310 320,117 A 165,807
= 19,713
& 4,979
Al 129,618
HaUSH A EE 67,770 66,570 1,200
201 Eer2d| 64,770 63,570 1,200
01 AFR 22l I 64,770 63,570 1,200
O Lt==gH| 46,420
- SFRHE 1,500,000& * 256& 37,500




2 1z
2 W

CEA - B O (BH) - NRAY - BAS e HlmS2
“SX0E usuM @ 35
13,300& * 1008 * 48 5,320
- 2Xois B9 3,600,0002 * 14 3,600
O Szl 15,750
- SXeE FIN 34 S
7,0008 * 15001 = 34! = 5 15,750
O gxt=s 2,600
- SXgs 2L &I 200,000 * 13CH 2,600
202 44l 3,000 0
01 2O Y] 3,000 0
O Hl& il RF& 50,0002 = 32! » 20 3,000
LA D 49,730 10,646
= 3,600
[ 2,520
Al 43,610
201 Bt FH| 30,985 10,401
01 AtR22t2| I 9,190 0
O gpt=8H| 3,000
- oo HMES 20,0002 * 100% 2,000
- olEsasH DI MRS
5,000& * 2002 1,000
O 2g=g 500
- olgty HF40|8 = 32AAM =Y
500,000& = 12l 500
O =l 4,690
- g = 7,000& * 501 » 90 3,150
- OIS REYR W] 7,0008 * 1102 * 23] 1,540
O dxt= 1,000
- QA=A +=EXNHES 500,000& = 2CH 1,000
02 323l 17,795 10,401
O 3322 ¥ HA 9,79
- dBANE &IIRe3 20,000& = 12& 240
- QHREED] MEIHRS
32,1008 » 223|& = 12& 8,475
- A NSSIAN SERI
360& = 3,0002! 1,080
O AZEBIR XY 6,000
- olgke] AP ALOI8 22l
3,000,000& * 14 3,000
- 0lgke] ZAEA0IE &M
3,000,000& * 14 3,000
O Hats X 2el gl 2,000
- Qg2 A0 E BEH= S22
2,000,000& * 14 2,000
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